Name: Date:

Dividing Integers Drill

Directions: Answer the following questions in the spaces provided applying the sign rules
when dividing integers. Show the calculation in the blank space and write the answer.

(1. (-135) = (-3) = (-5) = (9) )
. Answer: )

2. (144) = (6) = (-2) = (-3) = (-1) = (4)

Answer:

3. (48) = (-4) = (-3) = (-2)

A Answer: :

(4. (-420) + (2) + (-2) + (-3) = (7) = (5) w

\ Answer: )

(5. (-96) + (6) = (-2) = (4) + (-1) \
Answer:

© https://brainiacworksheets.com/




